
Rotary Hammer
UBH 4/26 | 0 611 205 041

Table of Content

Spare parts list........................................................................................................................................................................................... 2

Illustration - Type........................................................................................................................................................................................6

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 2

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

2 1 614 220 051 Field        110-115V         1 - 1

2/10 1 671 353 005 Terminal lug        Ø 4,3 MM         1 - 2

2/20 1 610 452 003 End Splice        Ø1,3XØ1,6X10 MM         1 - 2

4 1 617 200 017 On-Off Switch         1 - 1

5 1 604 460 219 Power supply cord        GB 110V  2,65M 2 X
2,5MM H07RN-F        

1 - 1

5/20 3 604 477 008 End Splice         1 - 2

6 3 600 703 011 Grommet        Ø9,2-Ø12X120 MM         1 ₹ 199.00 * 1 00

7 1 601 302 013 Fastening Clamp         1 ₹ 47.00 * 1 00

7 1 601 302 014 Fastening Clamp         1 ₹ 129.00 * 1 00

8 1 611 104 001 Nameplate         1 - 1

9 1 611 110 156 Manufacturer's nameplate         1 - 2

9/1 1 611 110 163 Manufacturer's nameplate         1 - 2

12 1 615 500 280 Housing Cover         1 - 1

13 1 615 806 024 Gear Housing         1 - 1

14 1 615 132 016 Handle Cover         1 - 1

15 1 616 610 052 Fan         1 - 1

17 1 610 206 017 Rubber Ring         1 - 1

18 1 610 522 005 Air-Deflector Ring         1 - 1

20 1 615 820 087 Bearing Pedestal         1 - 1

23 1 615 700 024 Bearing Flange         1 - 1

24 1 613 124 019 Crankshaft         1 - 1

25 1 613 180 002 Eccentric Bolt         1 - 1

26 1 613 105 010 Pressure Spindle         1 - 1

27 1 604 612 002 Compression Spring         1 - 1

28 1 617 328 002 Suppression Filter         1 ₹ 253.00 * 1 00

28 1 617 328 020 Suppression Filter         1 - 1

29 1 610 101 610 Shim washer        1,8 MM        THICK 1 - 1

30 1 610 132 004 Shim        0,2 MM        THICK 1 - 2

31 1 612 001 030 Connecting Rod         1 - 1

32 1 616 317 023 Cylindrical Gear        Z=46/6         1 - 1

33 1 616 317 024 Cylindrical Gear        Z=46/6         1 - 1

34 1 618 700 035 Hammer Piston         1 - 1

35 1 616 130 005 Hollow Shaft        Z=6         1 - 1

36 1 613 200 005 Striker         1 - 1

* Prices shown are net prices without GST

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 3

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

37 1 614 618 001 Compression Spring         1 - 1

38 1 610 328 010 Backup ring         1 - 1

39 2 916 650 014 Spring retaining ring        DIN 471 25X1,2         1 ₹ 59.00 * 1 00

40 1 616 334 007 Bearing Sleeve         1 - 1

41 1 616 490 009 Carrier        Z=8/9         1 - 1

41 1 616 490 011 Carrier        Z=12/9         1 - 1

42 1 613 124 021 Striker Pin         1 - 1

46 1 613 101 004 Straight Pin         1 - 1

47 1 610 102 016 Supporting Disc        3,0 MM        THICK 1 - 1

50 1 604 336 017 Brush Holder         1 ₹ 90.00 * 2 00

51 1 604 652 006 Spiral Spring         1 ₹ 46.00 * 2 00

52 1 615 500 281 Housing Cover         1 - 2

55 1 614 680 000 Holding Spring         1 - 2

56 1 612 026 026 Control Lever         1 - 1

58 1 611 015 025 Sealing Frame         1 - 1

59 1 611 091 002 connecting terminal        POLE 1 - 1

64 1 900 210 145 O-Ring        45X2,5MM         1 ₹ 47.00 * 1 00

65 1 610 300 051 Intermediate Ring         1 - 1

66 1 903 230 009 Ball        DIN 5401-5 G28         1 ₹ 66.00 * 4 00

67 1 903 230 011 Ball        DIN 5401-6 G28         1 ₹ 30.00 * 6 00

68 1 610 210 034 Damping Ring         1 ₹ 42.00 * 1 00

70 1 610 210 026 O-Ring        14,0X2,3 MM         1 - 2

71 1 610 283 012 Seal Ring        Ø 31,5X42X7 MM         1 - 1

72 1 610 283 014 Rotary shaft lip seal        Ø13,8XØ26X7,5 MM
 

1 ₹ 258.00 * 1 00

74 1 610 910 051 Needle bearing        Ø35XØ42X12 MM         1 - 1

76 1 610 910 069 Needle bearing         1 ₹ 126.00 * 1 00

77 1 610 910 057 Needle bearing        Ø8XØ12X10 MM         1 ₹ 91.00 * 1 00

78 1 900 900 275 groove ball bearing        25X47X12         1 - 1

79 1 900 900 278 groove ball bearing        DIN 625 6000J C5         1 - 1

80 1 610 905 002 groove ball bearing        10X26X8         1 - 2

81 1 610 205 003 Lubricating Felt         1 - 1

83 2 603 410 001 Socket head cap screw        M3X6,5-4.8         1 ₹ 52.00 * 2 00

84 1 613 412 001 Tapping Screw        B 4,8X68 MM         1 ₹ 44.00 * 4 00

85 3 603 415 560 Screw        B 4,8X45 MM         1 - 2

* Prices shown are net prices without GST

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 4

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

86 2 910 211 037 Tapping Screw        DIN 7971-BZ4,8X32         1 ₹ 51.00 * 2 00

87 2 910 211 021 Tapping Screw        DIN 7971-ST3,9X22-F         1 ₹ 30.00 * 4 00

88 2 910 211 018 Tapping Screw        DIN 7971-ST3,9X13-F         1 ₹ 133.00 * 2 00

89 2 910 211 017 Tapping Screw        DIN 7971-BZ3,9X9,5         1 - 2

90 2 910 141 166 Hex Socket Head Cap Screw        DIN 912-M
5X30-8.8        

1 ₹ 51.00 * 4 00

92 1 613 421 000 Countersunk-Head Screw         1 - 1

94 2 910 021 118 Socket head cap screw        DIN 84-AM4X8-8.8
 

1 ₹ 66.00 * 2 00

95 2 910 021 134 Socket head cap screw        DIN 84-BM4X30-8.8
 

1 ₹ 29.00 * 2 00

99 2 910 141 170 Hex Socket Head Cap Screw        DIN 912-
M5X40-8.8        

1 - 4

100 2 910 601 120 Tapping Screw        BZ 3,9X19 DIN 7972         1 - 2

102 2 917 550 184 Straight Pin        RIKO 6325-8M6X40         1 - 1

103 1 614 616 004 Compression Spring         1 - 1

104 1 610 499 004 Protection Sleeve         1 - 1

105 1 610 206 016 Rubber Ring        Ø42XØ4,5X10 MM         1 - 1

108/1 1 611 110 468 Manufacturer's nameplate         1 - 1

112 1 610 590 000 Protective Cap         1 - 1

113 2 916 601 014 Retaining ring        26 DIN 9045         1 - 1

800 1 616 333 005 Bevel Gear        Z=33         1 - 1

801 1 617 000 930 Parts Set        Z=9/16/48         1 - 1

802 1 617 014 106 Carbon-Brush Set         1 - 1

802/20 1 604 682 006 Extractor Hook         1 - 1

805 1 617 000 064 Parts Set         1 - 1

808 1 601 11A 3H3 Nameplate         1 - 1

810 1 617 000 060 Parts Set         1 - 1

830 1 614 010 028 Armature        110-115V         1 - 1

843 1 618 597 031 Toolholder         1 - 1

876 1 610 910 056 Needle bearing        Ø14XØ22X13 MM         1 - 1

34/1 1 618 700 051 Hammer Piston         2 - 1

36/1 1 618 710 046 Striker         2 - 1

40/1 1 616 334 010 Bearing Sleeve         2 - 1

42/0/1 1 613 124 027 Striker Pin        15 MM         2 - 1

42/1/1 1 613 124 022 Striker Pin         2 - 1

42/1/1 1 613 124 028 Striker Pin        Ø12,5XØ25X74 MM         2 - 1

* Prices shown are net prices without GST

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 5

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

63 1 610 210 089 O-Ring        62,0X4,0 MM         2 - 1

69 1 610 210 058 O-Ring        18,0X3,0 MM         2 ₹ 77.00 * 1 00

115 1 613 001 003 Depth-Gauge        SW 6X330 MM         2 - 1

120 1 612 025 019 Auxiliary Handle        M8         2 ₹ 87.00 * 1 00

121 1 618 040 077 Support clamp         2 - 1

122 1 613 521 001 Stud bolt        M8         2 - 1

123 1 611 316 003 Clamping Band        Ø43 MM         2 - 1

124 1 613 100 012 Straight Pin         2 - 1

125 1 613 480 009 Wing Screw        M6X25 MM         2 ₹ 47.00 * 1 00

126 1 613 300 006 Hex Nut        M6         2 ₹ 32.00 * 1 00

127 1 611 030 009 Clamping Plate         2 - 1

804 1 617 000 062 Parts Set         2 - 1

806 1 617 000 085 Parts Set         2 - 1

813 1 612 025 020 Auxiliary Handle        Ø43 MM         2 - 1

814 1 617 000 038 Parts Set         2 - 1

815 1 602 025 0A1 Auxiliary Handle         2 ₹ 642.00 * 1 00

858 1 611 015 017 Sealing Frame         2 - 1

652 2 607 950 004 Offset Screwdriver        DIN 911-4         3 ₹ 144.00 * 1 00

655 2 600 508 019 Protective Cap         3 - 1

656/20 1 618 598 086 Bit holder         3 - 1

656/20/1 1 618 598 087 Bit holder         3 - 1

705/1 1 618 598 085 Bit holder         3 - 1

706/1 1 618 598 094 Bit holder        1/2" - 20 UNF-2 A         3 - 1

706/20 2 916 600 007 Retaining ring        12 DIN 9045         3 ₹ 44.00 * 1 00

756/20 1 618 598 123 Bit holder         3 - 1

756/20/1 1 618 598 124 Bit holder         3 - 1

760 1 618 571 008 Chuck         3 - 1

760/1 1 618 571 009 Chuck        Ø5-Ø13 MM         3 - 1

770 1 608 571 045 Key Chuck        Ø 1-10 MM, 1/2"         3 - 1

770 1 608 571 069 Chuck        Ø1,5-13 MM, 1/2"         3 ₹ 424.00 * 1 00

770/800 2 607 950 007 Chuck Wrench        SG2         3 ₹ 84.00 * 1 00

770/801 1 603 400 001 Set screw         3 - 1

* Prices shown are net prices without GST

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 6

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 7

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Rotary Hammer | UBH 4/26 | 0 611 205 041 8

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors | 20 June 2025 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com


